

Inequalities and infinite product formula for Ramanujan generalized modular equation function

Miao-Kun Wang¹ · Yong-Min Li¹ · Yu-Ming Chu¹

Received: 3 September 2016 / Accepted: 27 January 2017 / Published online: 20 March 2017 © Springer Science+Business Media New York 2017

Abstract We present several inequalities for the Ramanujan generalized modular equation function $\mu_a(r) = \pi F(a, 1 - a; 1; 1 - r^2) / [2 \sin(\pi a) F(a, 1 - a; 1; r^2)]$ with $a \in (0, 1/2]$ and $r \in (0, 1)$, and provide an infinite product formula for $\mu_{1/4}(r)$, where $F(a, b; c; x) = {}_2F_1(a, b; c; x)$ is the Gaussian hypergeometric function.

Keywords Gaussian hypergeometric function · Ramanujan generalized modular equation · Quadratic transformation · Infinite product

Mathematics Subject Classification 33C05 · 11F03

1 Introduction

For real numbers a, b, and c with $c \neq 0, -1, -2, ...$, the Gaussian hypergeometric function is defined by

ymlwww@163.com

¹ Department of Mathematics, Huzhou University, Huzhou 313000, China

The research was supported by the Natural Science Foundation of China under Grants 61673169, 11371125, 11601485, and 11401191, the Tianyuan Special Founds of the Natural Science Foundation of China under Grant 11626101, and the Natural Science Foundation of the Department of Education of Zhejiang Province under Grant Y201635325.

Yu-Ming Chu chuyuming@zjhu.edu.cn
 Miao-Kun Wang wmk000@126.com; wangmiaokun@zjhu.edu.cn
 Yong-Min Li

$$F(a,b;c;x) = {}_{2}F_{1}(a,b;c;x) = \sum_{n=0}^{\infty} \frac{(a,n)(b,n)}{(c,n)} \frac{x^{n}}{n!} \quad (|x| < 1),$$
(1.1)

where (a, 0) = 1 for $a \neq 0$, and (a, n) denotes the shifted factorial function

$$(a, n) = a(a + 1)(a + 2)(a + 3) \cdots (a + n - 1)$$

for n = 1, 2, ..., F(a, b; c; x) is said to be zero-balanced if c = a + b. Recently, the Gaussian hypergeometric function F(a, b; c; x) has attracted the attention of many researchers. In particular, many remarkable inequalities and properties for F(a, b; c; x) can be found in the literature [2–4,6,7,15,18,21,22,28].

The well-known quadratic transformation formula [15, (15.8.15), (15.8.21)] for the Gaussian hypergeometric function is given by

$$F\left(\frac{1}{4},\frac{3}{4};1;1-\left(\frac{1-r}{1+3r}\right)^2\right) = \sqrt{1+3r}F\left(\frac{1}{4},\frac{3}{4};1;r^2\right),\tag{1.2}$$

namely,

$$F\left(\frac{1}{4},\frac{3}{4};1;\left(\frac{1-r}{1+3r}\right)^2\right) = \frac{\sqrt{1+3r}}{2}F\left(\frac{1}{4},\frac{3}{4};1;1-r^2\right).$$
 (1.3)

Let $a \in (0, 1/2]$, $r \in (0, 1)$ and p > 0. Then the Ramanujan generalized modular equation with signature 1/a and degree p is given by

$$\frac{F(a, 1-a; 1; 1-s^2)}{F(a, 1-a; 1; s^2)} = p \frac{F(a, 1-a; 1; 1-r^2)}{F(a, 1-a; 1; r^2)}.$$
(1.4)

Making use of the decreasing homeomorphism $\mu_a: (0, 1) \to (0, \infty)$ defined by

$$\mu_a(r) = \frac{\pi}{2\sin(\pi a)} \frac{F(a, 1-a; 1; 1-r^2)}{F(a, 1-a; 1; r^2)},$$
(1.5)

(1.4) can be rewritten as

$$\mu_a(s) = p\mu_a(r). \tag{1.6}$$

The solution of (1.6) is given by

$$s \equiv \varphi_K(a, r) = \mu_a^{-1}(\mu_a(r)/K), \quad K = 1/p.$$
 (1.7)

We call the function $\mu_a(r)$ defined by (1.5) the Ramanujan generalized modular equation function and $\varphi_K(a, r)$ defined by (1.7) the solution of the Ramanujan generalized modular equation with signature 1/a and degree 1/K.

The Ramanujan generalized modular equation (1.4) has been developed by leading mathematicians for over a century. The classical case a = 1/2 was firstly studied by Jacobi in the nineteenth century. In the early 20th century, the Indian mathematical genius Ramanujan studied extensively the Gaussian hypergeometric function F(a, b; c; x) and the Ramanujan generalized modular equation (1.4). Numerous algebraic identities for the solution *s* for some rational values of *a* were listed in his unpublished notebooks, but with no original proofs (see [7]). Later, Borwein and Borwein [11,12], Venkatachaliengar [23], and Berndt [5–8] et al. made great contribution to the subject. In particular, in 1995, Berndt et al. published an important paper [9] in which they studied the case *p* a prime. For several rational values, such as a = 1/3, 1/4, 1/6, and integers *p* (e.g. p = 2, 3, 5, 7, 11, ...) they were able to give proofs for numerous algebraic identities stated by Ramanujan. After the publication of [9], many remarkable results for the Ramanujan generalized modular equations have been established (see [13,14,19–22,24,29]).

Let $\mu(r)$ and $\varphi_K(r)$ be, respectively, the plane Grötzsch ring function and the Hersch–Pfluger distortion function in geometric function theory, that is, $\mu(r)$ is the conformal modulus of the ring consisting of the unit disk slit along the real axis from 0 to r, and $\varphi_K(r)(K \ge 1)$ gives the maximum distortion of the class of Kquasiconformal mappings of the unit disk into itself with the origin fixed. Then we clearly see that $\mu_{1/2}(r) = \mu(r)$ and $\varphi_K(1/2, r) = \varphi_K(r)$. Therefore, $\mu_a(r)$ and $\varphi_K(a, r)$ are respectively the generalized Grötzsch ring function and generalized Hersch–Pfluger distortion function, and they have been explored by Anderson, Vuorinen and Qiu et al. in [1,3,10,16,17,25,26,30,31].

In what follows, we denote $r' = \sqrt{1 - r^2}$ for $r \in (0, 1)$,

$$\mu^*(r) = \mu_{1/4}(r) = \frac{\pi}{\sqrt{2}} \frac{F(1/4, 3/4; 1; 1 - r^2)}{F(1/4, 3/4; 1; r^2)},$$

$$\varphi^*_K(r) = \mu^{*-1}(\mu^*(r)/K).$$

Note that

$$\varphi_K^*(r) = {\varphi_{1/K}^*}^{-1}(r)$$

for all $r \in (0, 1)$ and K > 0.

From (1.2), (1.3), (1.5) and (1.7) one has

$$\mu_a(r)\mu_a(r') = \frac{\pi^2}{4\sin^2(\pi a)},\tag{1.8}$$

$$[\varphi_K(a,r)]^2 + [\varphi_{1/K}(a,r')]^2 = 1,$$
(1.9)

$$\mu^*(r)\mu^*\left(\frac{1-r}{1+3r}\right) = \pi^2,$$
(1.10)

$$\mu^*(r) = 2\mu^*\left(\frac{\sqrt{8r(1+r)}}{1+3r}\right), \quad \mu^*(r) = \frac{1}{2}\mu^*\left(\frac{1-r'}{1+3r'}\right), \tag{1.11}$$

191

🖉 Springer

$$\varphi_2^*(r) = \frac{\sqrt{8r(1+r)}}{1+3r}, \quad \varphi_{1/2}^*(r) = \frac{1-r'}{1+3r'}.$$
 (1.12)

The main purpose of this paper is to present the inequalities for the function $\mu_a(r)$ and give an infinite product formula for $\mu_{1/4}(r) = \mu^*(r)$. Our main results are the following Theorems 1.1 and 1.2.

Theorem 1.1 Let $a \in (0, 1/2]$, R(a) be defined by (2.2) and $M^* = M^*(a) = \min\{M, 2\}$ with

$$M = M(a) = \left[1 + \frac{2\sin(\pi a)}{\pi} (R(a) - \log 64)\right]^2.$$

Then the following statements are true:

(1) The function $r \mapsto g(r)$ defined by

$$g(r) = 2\mu_a \left(\frac{\sqrt{8r(1+r)}}{1+3r}\right) - \mu_a(r)$$

is strictly decreasing from (0, 1) onto $(0, R(a)/2 - 3\log 2)$ if $a \in (0, 1/4)$ and strictly increasing from (0, 1) onto $(R(a)/2 - 3\log 2, 0)$ if $a \in (1/4, 1/2]$, and g(r) = 0 if a = 1/4. Moreover, the inequalities

$$\mu_a(r) < 2\mu_a \left(\frac{\sqrt{8r(1+r)}}{1+3r}\right) < \min\left\{\mu_a(r) + R(a)/2 - 3\log 2, M^*\mu_a(r)\right\}$$
(1.13)

hold for all $a \in (0, 1/4)$ and $r \in (0, 1)$, and the inequalities

$$\max\left\{\mu_{a}(r) + R(a)/2 - 3\log 2, M\mu_{a}(r)\right\} < 2\mu_{a}\left(\frac{\sqrt{8r(1+r)}}{1+3r}\right) < \mu_{a}(r)$$
(1.14)

hold for all $a \in (1/4, 1/2)$ and $r \in (0, 1)$. (2) The function $r \mapsto f(r)$ defined by

$$f(r) = \mu_a \left(\frac{1-r}{1+3r}\right) - 2\mu_a(r')$$

is strictly decreasing from (0, 1) onto $(3 \log 2 - R(a)/2, 0)$ if $a \in (0, 1/4)$ and strictly increasing from (0, 1) onto $(0, 3 \log 2 - R(a)/2)$ if $a \in (1/4, 1/2]$, and f(r) = 0 if a = 1/4. Moreover, the inequalities

$$\max\left\{\frac{\pi^2}{2\sin^2(\pi a)} - (R(a)/2 - 3\log 2)\mu_a(r), \frac{1}{M^*}\frac{\pi^2}{2\sin^2(\pi a)}\right\}$$

$$\leq \mu_a(r)\mu_a\left(\frac{1-r}{1+3r}\right) \leq \frac{\pi^2}{2\sin^2(\pi a)}$$
(1.15)

hold for all $a \in (0, 1/4]$ and $r \in (0, 1)$, and the inequalities

$$\frac{\pi^2}{2\sin^2(\pi a)} \le \mu_a(r)\mu_a\left(\frac{1-r}{1+3r}\right) \\
\le \min\left\{\frac{\pi^2}{2\sin^2(\pi a)} + (3\log 2 - R(a)/2)\mu_a(r), \frac{1}{M}\frac{\pi^2}{2\sin^2(\pi a)}\right\} (1.16)$$

hold for all $a \in [1/4, 1/2]$ and $r \in (0, 1)$. Equality is reached in each inequality of (1.15) and (1.16) if and only if a = 1/4.

Theorem 1.2 Let $a \in (0, 1/2]$, $r \in (0, 1)$, $r_0 = r' = \sqrt{1 - r^2}$, $r_1 = \varphi_2^*(r') = \sqrt{8r'(1 + r')}/(1 + 3r')$, $r_2 = \varphi_2^*(r_1) = \sqrt{8r_1(1 + r_1)}/(1 + 3r_1) = \varphi_4^*(r')$ and

$$r_n = \varphi_2^*(r_{n-1}) = \frac{\sqrt{8r_{n-1}(1+r_{n-1})}}{1+3r_{n-1}} = \varphi_{2^n}^*(r').$$
(1.17)

Then the inequalities

$$\prod_{n=0}^{\infty} \left[(1+r_n)(1+3r_n) \right]^{2^{-n-1}} \le \exp[\mu_a(r) + \log r]$$

$$\le \frac{1}{8} \exp(R(a)/2) \prod_{n=0}^{\infty} \left[(1+r_n)(1+3r_n) \right]^{2^{-n-1}}$$
(1.18)

are valid for $a \in (0, 1/4]$, and the reversed inequalities of (1.18)

$$\frac{1}{8} \exp(R(a)/2) \prod_{n=0}^{\infty} \left[(1+r_n)(1+3r_n) \right]^{2^{-n-1}} \le \exp[\mu_a(r) + \log r]$$

$$\le \prod_{n=0}^{\infty} \left[(1+r_n)(1+3r_n) \right]^{2^{-n-1}}$$
(1.19)

take place for $a \in [1/4, 1/2]$. Moreover, each equality in (1.18) and (1.19) is reached if and only if a = 1/4. In particular, for all $r \in (0, 1)$ one has

$$\exp(\mu^*(r) + \log r) = \exp(\mu_{1/4}(r) + \log r) = \prod_{n=0}^{\infty} \left[(1+r_n)(1+3r_n) \right]^{2^{-n-1}},$$
(1.20)

namely,

$$\mu^*(r) + \log r = \mu_{1/4}(r) + \log r = \sum_{n=0}^{\infty} \frac{1}{2^{n+1}} \log \left[(1+r_n)(1+3r_n) \right]. \quad (1.21)$$

By Theorem 1.2, we get Corollary 1.3 immediately.

Corollary 1.3 Let $r \in (0, 1)$, then

$$\mu^*(r) \le \mu_a^*(r) \le \mu^*(r) + \frac{1}{2}[R(a) - \log 64]$$
(1.22)

if $a \in (0, 1/4]$ *, and*

$$\mu^*(r) + \frac{1}{2}[R(a) - \log 64] \le \mu_a^*(r) \le \mu^*(r)$$
(1.23)

if $a \in [1/4, 1/2]$, each equality in (1.22) or (1.23) is reached if and only if a = 1/4.

2 Proofs of Theorems 1.1 and 1.2

In order to prove our main results, we introduce some basic knowledge and lemmas at first. For x, y > 0, the gamma function $\Gamma(x)$, the psi function $\Psi(x)$, and the beta function B(x, y) are defined by

$$\Gamma(x) = \int_0^\infty e^{-t} t^{x-1} \mathrm{d}t, \quad \Psi(x) = \frac{\Gamma'(x)}{\Gamma(x)}, \quad B(x, y) = \frac{\Gamma(x)\Gamma(y)}{\Gamma(x+y)}, \tag{2.1}$$

respectively (see [28]). If *x* is not an integer, then the gamma function has the so-called reflection property [28, p.239]

$$\Gamma(x)\Gamma(1-x) = \frac{\pi}{\sin(\pi x)} = B(x, 1-x).$$

We also need the function

$$R(a) = -2\gamma - \Psi(a) - \Psi(1-a), \quad R(1/4) = \log 64, \quad R(1/2) = \log 16, (2.2)$$

where γ is the Euler–Mascheroni constant defined by

$$\gamma = \lim_{n \to \infty} \left(\sum_{k=1}^n \frac{1}{k} - \log n \right) = 0.577215 \dots$$

From [17, Lemma 2.14(2)], we know that the function $a \mapsto R(a)$ is strictly decreasing on $\in (0, 1/2]$. Thus $R(a) > \log 64$ for $a \in (0, 1/4)$, and $R(a) < \log 64$ for $a \in (1/4, 1/2]$.

The Ramanujan generalized modular equation function $\mu_a(r)$ satisfies the derivative formula (see [17, (2.11)], or [6, p. 86, Corollary])

$$\frac{\mathrm{d}\mu_a(r)}{\mathrm{d}r} = -\frac{1}{rr'^2 F(a, 1-a; 1; r^2)^2}.$$
(2.3)

Lemma 2.1 [3, Theorem 5.5(2)] *The function* $r \mapsto \mu_a(r) + \log r$ *is strictly decreasing from* (0, 1) *onto* (0, R(a)/2).

Lemma 2.2 [27, Theorem 2.4] The inequalities

$$0 \le \sqrt{1+3r}F(a, 1-a; 1; r^2) - F\left(a, 1-a; 1; \frac{8r(1+r)}{(1+3r)^2}\right)$$
(2.4)
$$\le \frac{\sin(\pi a)[R(a) - \log 64]}{\pi}$$

hold for $a \in (0, 1/4]$ and $r \in (0, 1)$, and the inequalities

$$0 \leq F\left(a, 1-a; 1; \frac{8r(1+r)}{(1+3r)^2}\right) - \sqrt{1+3r}F(a, 1-a; 1; r^2)$$

$$\leq \frac{\sin(\pi a)[\log 64 - R(a)]}{\pi}$$
(2.5)

take place for $a \in [1/4, 1/2]$ and $r \in (0, 1)$. Each inequality in (2.4) and (2.5) becomes equality if and only if a = 1/4.

Proof of Theorem 1.1 For part (1), if a = 1/4, then g(r) = 0 by (1.11). Let $x = \sqrt{\frac{8r(1+r)}{1+3r}}$, then x' = (1-r)/(1+3r) and

$$\frac{\mathrm{d}x}{\mathrm{d}r} = \frac{4(1-r)}{(1+3r)^2\sqrt{8r(1+r)}} = \frac{x'}{4x}(1+3x')^2. \tag{2.6}$$

It follows from $\mu_a(1^-) = 0$ and Lemma 2.1 that

$$\lim_{r \to 1^{-}} g(r) = 0, \tag{2.7}$$

$$\lim_{r \to 0^+} g(r) = \lim_{r \to 0^+} \left[2\mu_a(x) + 2\log x - (\mu_a(r) + \log r) + \log r - 2\log x \right]$$
$$= R(a) - \frac{R(a)}{2} - \log 8$$
$$= \frac{R(a)}{2} - 3\log 2.$$
(2.8)

By (2.3) and (2.6), differentiating g yields

$$g'(r) = -\frac{2}{xx'^2 F(a, 1-a; 1; x^2)^2} \cdot \frac{x'}{4x} (1+3x')^2 + \frac{1}{rr'^2 F(a, 1-a; 1; r^2)^2}$$
$$= -\frac{(1+3x')^2}{2x'x^2 F(a, 1-a; 1; x^2)^2} + \frac{1}{rr'^2 F(a, 1-a; 1; r^2)^2}$$
$$= \frac{1}{rr'^2 F(a, 1-a; 1; r^2)^2 F(a, 1-a; 1; x^2)^2}$$
$$\times \left[F(a, 1-a; 1; x^2)^2 - (1+3r) F(a, 1-a; 1; r^2)^2 \right].$$
(2.9)

From Lemma 2.2 and (2.9), we know that g is strictly decreasing if $a \in (0, 1/4)$ and strictly increasing if $a \in (1/4, 1/2]$, while the range of g can be obtained by (2.7) and (2.8). Therefore, we get the first inequality and the first upper bound in (1.13) together with the first lower bound and the second inequality in (1.14).

Next, we prove the other inequalities in (1.13) and (1.14). If $a \in (0, 1/4]$ ($a \in [1/4, 1/2]$), then the inequality

$$F(a, 1-a; 1; \left(\frac{1-r}{1+3r}\right)^2) \le (\ge)$$

$$\frac{\sqrt{1+3r}}{2} \left[F(a, 1-a; 1; 1-r^2) + \frac{\sin(\pi a)(R(a) - \log 64)}{\pi} \right]$$
(2.10)

holds for all $r \in (0, 1)$ by changing r to (1 - r)/(1 + 3r) in (2.4) and (2.5). Note that

$$1 + \frac{\sin(\pi a)(R(a) - \log 64)}{\pi} \ge 1 + \frac{1}{\pi} \left[R\left(\frac{1}{2}\right) - \log 64 \right] = 1 + \frac{1}{\pi} \log \frac{1}{4}$$
$$= 0.5587 \dots \quad (2.11)$$

for $a \in (0, 1/2]$.

Making use of Lemma 2.2, (2.10) and (2.11) one has

$$2\mu_{a}\left(\frac{\sqrt{8r(1+r)}}{1+3r}\right)/\mu_{a}(r) = 2\frac{F(a,1-a;1;r^{2})}{F(a,1-a;1;1-r^{2})}\frac{F\left(a,1-a;1;(\frac{1-r}{1+3r})^{2}\right)}{F\left(a,1-a;1;(\frac{1-r}{1+3r})^{2}\right)}$$

$$\leq (\geq)\frac{\sqrt{1+3r}F(a,1-a;1;r^{2})}{F(a,1-a;1;1-r^{2})}\frac{F(a,1-a;1;1-r^{2})+\sin(\pi a)(R(a)-\log 64)/\pi}{F\left(a,1-a;1;\frac{8r(1+r)}{(1+3r)^{2}}\right)}$$

$$\leq (\geq)\left[1+\frac{\sin(\pi a)(R(a)-\log 64)}{\pi F(a,1-a;1;1-r^{2})}\right]\left[1+\frac{\sin(\pi a)(R(a)-\log 64)}{\pi F\left(a,1-a;1;\frac{8r(1+r)}{(1+3r)^{2}}\right)}\right]$$

$$\leq (\geq)\left[1+\frac{\sin(\pi a)(R(a)-\log 64)}{\pi}\right]^{2}$$

$$(2.12)$$

for $a \in (0, 1/4]$ ($a \in [1/4, 1/2]$). Equality holds in each of above inequalities if and only if a = 1/4. On the other hand, since x > r, it follows from the monotonicity of $\mu_a(r)$ with respect to $r \in (0, 1)$ that $\mu_a(x) < \mu_a(r)$. Hence, the remaining bounds in (1.13) and (1.14) follow.

For part (2), let t = (1 - r)/(1 + 3r). Then $r' = \sqrt{8t(1 + t)}/(1 + 3t)$ and f(r) = -g(t). So that the assertion about f follows from part (1).

Equations (1.8), (1.13), and (1.14) imply that

$$\mu_a(r)\mu_a\left(\frac{1-r}{1+3r}\right) = \frac{2\pi^2}{4\sin^2(\pi a)} \cdot \frac{\mu_a(t)}{2\mu_a\left(\frac{\sqrt{8t(1+t)}}{1+3t}\right)} \ge \frac{1}{M^*} \left[\frac{\pi^2}{2\sin^2(\pi a)}\right]$$
(2.13)

for all $a \in (0, 1/4]$ and $r \in (0, 1)$, and the inequality

$$\mu_a(r)\mu_a\left(\frac{1-r}{1+3r}\right) \le \frac{1}{M} \left[\frac{\pi^2}{2\sin^2(\pi a)}\right]$$
(2.14)

holds for $a \in [1/4, 1/2]$ and $r \in (0, 1)$, with equality of (2.13) or (2.14) if and only if a = 1/4.

It follows from $f(r) \le (\ge)0$ for $a \in (0, 1/4]$ ($a \in [1/4, 1/2)$) and $\mu_a[(1-r)/(1+3r)] \le (\ge)2\mu_a(r')$ that

$$\mu_a(r)\mu_a\left(\frac{1-r}{1+3r}\right) \le (\ge)2\mu_a(r)\mu_a(r') = \frac{\pi^2}{2\sin^2(\pi a)}$$
(2.15)

for $a \in (0, 1/4]$ ($a \in [1/4, 1/2)$).

Therefore, inequalities (1.15) and (1.16) follow from (2.13)–(2.15) together with the monotonicity of f.

Proof of Theorem 1.2 From $r_0 = r'$, $r_1 = \varphi_2^*(r_0) = \sqrt{8r'(1+r')}/(1+3r')$, and $r_2 = \varphi_2^*(r_1) = \varphi_4^*(r')$, we clearly see that $r' = \varphi_{1/2}^*(r_1) = (1-r'_1)/(1+3r'_1)$, $r'_1 = (1-r')/(1+3r') = \varphi_{1/2}^*(r)$, and $r = \varphi_2^*(r'_1)$.

Let $a \in (0, 1/2]$ and $r \in (0, 1)$, $h(r) = \mu_a(r) + \log r$, g(r) be defined as in Theorem 1.1 and $\zeta(r)$ be defined by

$$\zeta(r) = \mu_a(r) + \frac{1}{2} \log\left(\frac{1-r'}{1+3r'}\right)$$

$$= \mu_a(r) + \log r - \frac{1}{2} \log\left[(1+r_0)(1+3r_0)\right].$$
(2.16)

Then one has

$$\begin{aligned} \zeta(r) &= \mu_a(r) + \frac{1}{2} \log r_1' = \frac{1}{2} [\mu_a(r_1') + \log r_1' + 2\mu_a(r) - \mu_a(r_1')] \\ &= \frac{1}{2} [h(r_1') + g(r_1')], \end{aligned}$$

that is

$$h(r) - \frac{1}{2}\log[(1+r_0)(1+3r_0)] = \frac{1}{2}[h(r_1') + g(r_1')].$$
(2.17)

Similarly, putting $r_1 = \varphi_2^*(r_0)$, we get

$$h(r_1') - \frac{1}{2}\log[(1+r_1)(1+3r_1)] = \frac{1}{2}[h(r_2') + g(r_2')], \qquad (2.18)$$

and hence, by (2.17) and (2.18)

$$h(r) - \frac{1}{2}\log[(1+r_0)(1+3r_0)] - \frac{1}{4}\log[(1+r_1)(1+3r_1)]$$

= $\frac{1}{2}g(r_1') + \frac{1}{4}g(r_2') + \frac{1}{4}h(r_2').$

Generally, assume that

$$h(r) - \sum_{k=0}^{n-1} \frac{1}{2^{k+1}} \log[(1+r_k)(1+3r_k)] = \sum_{k=1}^n \frac{1}{2^k} g(r'_k) + \frac{1}{2^n} h(r'_n)$$
(2.19)

for $n \in \mathbb{N}$ and $n \ge 2$. Let $r_n = \varphi_2^*(r_{n-1}) = \varphi_{2^n}^*(r')$ in (2.17), then

$$h(r'_n) - \frac{1}{2}\log[(1+r_n)(1+3r_n)] = \frac{1}{2}[h(r'_{n+1}) + g(r'_{n+1})],$$

and from (2.19) we get

$$h(r) - \sum_{k=0}^{n} \frac{1}{2^{k+1}} \log[(1+r_k)(1+3r_k)] = \sum_{k=1}^{n+1} \frac{1}{2^k} g(r'_k) + \frac{1}{2^{n+1}} h(r'_{n+1}). \quad (2.20)$$

Hence, by induction, Eq. (2.20) holds for all $n \in \mathbb{N}$, $a \in (0, 1/2]$, and $r \in (0, 1)$.

Next, we divide the proof into two cases.

Case A $a \in (0, 1/4]$. Then by Lemma 2.1, Theorem 1.1, and (2.20) we have

$$0 \le h(r) - \sum_{k=0}^{n} \frac{1}{2^{k+1}} \log[(1+r_k)(1+3r_k)]$$
$$\le \sum_{k=1}^{n+1} \frac{1}{2^k} \left[\frac{R(a)}{2} - 3\log 2 \right] + \frac{1}{2^{n+1}} \frac{R(a)}{2}$$
$$= \frac{1}{2} [R(a) - \log 64] + \frac{3\log 2}{2^{n+1}}.$$

Letting $n \to \infty$, we get

$$\sum_{k=0}^{\infty} \frac{1}{2^{k+1}} \log[(1+r_k)(1+3r_k)] \le h(r)$$
$$\le \sum_{k=0}^{\infty} \frac{1}{2^{k+1}} \log[(1+r_k)(1+3r_k)] + \frac{1}{2}[R(a) - \log 64].$$
(2.21)

The double inequality (1.18) follows from (2.21).

Case B $a \in [1/4, 1/2]$. It follows from (2.20), Lemma 2.1, and Theorem 1.1(1) that

$$\sum_{k=1}^{n+1} \frac{1}{2^k} \left[\frac{R(a)}{2} - 3\log 2 \right] \le h(r) - \sum_{k=0}^n \frac{1}{2^{k+1}} \log[(1+r_k)(1+3r_k)] \le \frac{1}{2^{n+1}} \frac{R(a)}{2}.$$

Letting $n \to \infty$, we get

$$\sum_{k=0}^{\infty} \frac{1}{2^{k+1}} \log[(1+r_k)(1+3r_k)] + \frac{1}{2}[R(a) - \log 64] \le h(r)$$
$$\le \sum_{k=0}^{\infty} \frac{1}{2^{k+1}} \log[(1+r_k)(1+3r_k)].$$
(2.22)

The double inequality (1.19) follows from (2.22), and the remaining conclusions are clear.

References

- Alzer, H., Richards, K.: On the modulus of the Grötzsch ring. J. Math. Anal. Appl. 432(1), 134–141 (2015)
- Anderson, G.D., Vamanamurthy, M.K., Vuorinen, M.: Conformal Invariants, Inequalities, and Quasiconformal Maps. Wiley, New York (1997)
- Anderson, G.D., Qiu, S.L., Vamanamurthy, M.K., Vuorinen, M.: Generalized elliptic integrals and modular equations. Pac. J. Math. 192(1), 1–37 (2000)
- Barnard, R.W., Pearce, K., Richards, K.C.: A monotonicity property involving ₃F₂ and comparisons of the classical approximations of elliptical arc length. SIAM J. Math. Anal. **32**(2), 403–419 (2000)
- 5. Berndt, B.C.: Ramanujan's Notebooks. Part I. Springer, New York (1985)
- 6. Berndt, B.C.: Ramanujan's Notebooks. Part II. Springer, New York (1989)
- 7. Berndt, B.C.: Ramanujan's Notebooks. Part III. Springer, New York (1991)
- 8. Berndt, B.C.: Ramanujan's Notebooks. Part IV. Springer, New York (1994)
- Berndt, B.C., Bhargave, S., Garvan, F.G.: Ramanujan's theories of elliptic functions to alternative bases. Trans. Am. Math. Soc. 347(11), 4163–4244 (1995)
- Bhayo, B.A., Vuorinen, M.: On generalized complete elliptic integrals and modular functions. Proc. Edinb. Math. Soc. (2) 55(3), 591–611 (2012)
- 11. Borwein, J.M., Borwein, P.B.: Pi and AGM. Wiley, New York (1987)
- Borwein, J.M., Borwein, P.B.: A cubic counterpart of Jacobi's identity and the AGM. Trans. Am. Math. Soc. 323(2), 691–701 (1991)
- Borwein, D., Borwein, J.M., Glasser, M.L., Wan, J.G.: Moments of Ramanujan's generalized elliptic integrals and extensions of Catalan's constant. J. Math. Anal. Appl. 384(2), 478–496 (2011)

- Chan, H.H., Liu, Z.G.: Analogues of Jacobi's inversion formula for incomplete elliptic integrals of the first kind. Adv. Math. 174(1), 69–88 (2003)
- Olver, F.W.J., Lozier, D.W., Boisvert, R.F., Clark, C.W. (eds.): NIST Handbook of Mathematical Functions. Cambridge University Press, Cambridge (2010)
- Qiu, S.L., Vuorinen, M.: Infinite products and the normalized quotients of hypergeometric functions. SIAM J. Math. Anal. 30(5), 1057–1075 (1999)
- Qiu, S.L., Vuorinen, M.: Duplication inequalities for the ratios of hypergeometric functions. Forum Math. 12(1), 109–133 (2000)
- 18. Saigo, M., Srivastava, H.M.: The behavior of the zero-balanced hypergeometric series ${}_{p}F_{p-1}$ near the boundary of its convergence region. Proc. Am. Math. Soc. **110**(1), 71–76 (1990)
- 19. Schultz, D.: Cubic theta functions. Adv. Math. 248, 618-697 (2013)
- 20. Schultz, D.: Cubic modular equations in two variables. Adv. Math. 290, 329–363 (2016)
- 21. Shen, L.C.: On an identity of Ramanujan based on the hypergeometric series ${}_2F_1(1/3, 2/3; 1/2; x)$. J. Number Theory **69**(2), 125–134 (1998)
- 22. Shen, L.C.: A note on Ramanujan's identities involving the hypergeometric function ${}_{2}F_{1}(1/6, 5/6; 1; z)$. Ramanujan J. **30**(2), 211–222 (2013)
- Venkatachaliengar, K.: Development of Elliptic Functions According to Ramanujan. Technical Report
 Madurai Kamaraj University, Madurai (1988)
- Vuorinen, M.: Singular values, Ramanujan modular equations, and Landen transformations. Stud. Math. 121(3), 221–230 (1996)
- Wang, G.D., Zhang, X.H., Chu, Y.M.: Inequalities for the generalized elliptic integrals and modular functions. J. Math. Anal. Appl. 331(2), 1275–1283 (2007)
- Wang, G.D., Zhang, X.H., Jiang, Y.P.: Concavity with respect to Hölder means involving the generalized Grötzsch function. J. Math. Anal. Appl. 379(1), 200–204 (2011)
- Wang, M.K., Chu, Y.M., Jiang, Y.P., Yan, D.D.: A class of quadratic transformation inequalities for zero-balanced hypergeometric functions. Acta Math. Sci. 34A(4), 999–1007 (2014)
- Whittaker, E.T., Watson, G.N.: A Course of Modern Analysis, 4th edn. Cambridge University Press, London (1962)
- Zhang, X.H.: Solution to a conjecture on the Legendre *M*-function with an applications to the generalized modulus. J. Math. Anal. Appl. 431(2), 1190–1196 (2015)
- 30. Zhang, X.H.: On the generalized modulus. Ramanujan J. (2016). doi:10.1007/s11139-015-9746-0
- Zhang, X.H., Wang, G.D., Chu, Y.M.: Some inequalities for the generalized Grötzsch function. Proc. Edinb. Math. Soc. (2) 51(1), 265–272 (2008)